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N SRACE T pr fE i i X FE AT BEBR (km)

(4H~11H) | U2A~3H4) |5t 37. 1
1 VB RIT & H) 457910 T H 9 :40 9:10 0
2 |FEVEBA S FA) BB _ERTS T H 10 : 10 9 : 45 7.7
3 |75 HTHP % ) FE14:1T A 10 : 40 10 : 20 9.1
4 |[ERIVERS JZ) BRI 156 T H 11 : 00 10 : 45 5.5
5 |EA MBS F) FEkaEe 1 H Ak 11 :20 11 : 10 6.6
6 | B TIER & ) HFERI58TH 11 : 32 11 : 27 1.9
7 |VEBE R T H) 457910 T H 11 : 52 11 :52 6.3
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N SRAC T BT fE " 3 G A

(4H~11H) | 12H~3H) |5t 33.8
1 WEBLRIT 4 M) 4579107 B 13 : 15 13 : 15 0
2 gAY —r AT — g H)AE114:PE13 T H 13 : 30 13 : 35 2.4
3 | FHEVHBL % F) FRaART25:5 T H 14 : 10 14 : 20 9.8
4 [VEVER & 79) FBFE105:4 T H 14 : 40 14 : 55 5.9
5 [THBS AR P5) J\#F105 1613 T H 14 : 55 15 : 15 2.3
6 [ALTEPE db) Ab245:vE8T H 15 : 10 15 : 35 3.8
7 |HEBGE W) AL245 17T H 15 : 25 15 : bb 2.7
8 |VHBA Je T W) 4519107 B 16 : 00 16 : 35 6.9
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